IBPS RRB Clerk Prelims 2022 Memory Based Paper

Directions (1-5): In these questions, relationship between different elements is shown in the statements.
The statements are followed by conclusions. Study the conclusions based on the given statements and
select the appropriate answer:

Q6RAQI (1-5): N2 9YGRR60, F6R QAR FIEQ Aa 6]AFEFIL6R QIURE | 6806749 TS FIRl A9ARE
QAN | JOR TR QUEQ 2RIIQ @A ARIBYEH LR FAF I9° QUYS QA 0AR FOG:

(a) If only conclusion I follows.
da 62a7 d8Ie ¢ AGARE A64 |

(b) If only conclusion II follows.
QG 6@a@ ARIB 11 AQAQE ¥6Q |

(c) If either conclusion I or II follows.
QT 1 Q¢ 11 dRI8 AQAQE @64 |

(d) If neither conclusion I nor II follows.
Q@ 1 &¢) 11 6193 TRIS 2GAQE A6Q A1z |

(e) If both conclusions I and II follow.
9@ @ee ARIB 1 9.° [1 A9AQE K9G |

Q1.Statements/6/c6614q: F>R2T=E>W=<Q
Conclusions/ @®12: I.E <F
ILQ>T

Q2.Statements/ 6896614q: W=G=2T=C<V<B
Conclusions/ @812: LW > C

ILW=T
TEST SERIES f‘“‘"‘i
Q3.Statements/ 6896949: K>1>2G>F<T<R ENGLISH wbe: aly

i oE

Conclusions/ d818: I. K> R

e OSSC BSSO

Q4.Statements/ 689674Q: Q>02P=K<U<Z PRELIMS 2022

Conclusions/ d®I12: 1. Z > K
ILQ>U
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Q5.Statements/ 6806614: K<G<sD<C>R<Y

Conclusions/ d®I1e: I.C > G
II. K<D

Directions (6-10):Study the following sequence carefully and answer the given questions.
ARG 9919 ANUIRGIQ AZE 2ULR @G 1° G2AYIRYQ! IR 2@ G ||

B@9#C1£28Dn7K5LE%U&F€EMG4!3Z?76X¥P5A06

Q6. Which of the following element is sixth to the left of the eighth element from the right end of the
given arrangement?

Jaa LA G128 799 28¢ AUIRIGA QAQ FINYS AR FRIQ 699G IF 2637

(@AM

(b) 4

(G

(d)3

(e) None of these\ 4gGa FIQ 6x161Q & G6< |

Q7. How many such letters are there in the given series which are immediately preceded by a symbol and
immediately followed by a number?

doRa FI6Q IR 6Q60 2IFQ AT JIRI a8 e goIa FIal q@@ NQ° 998 @ Q°6Yl Il QL€ @QULIN |

(a) Two\9@G

(b) Four\ QI

(c) None\ @8 g6%

(d) Three\ @&

(e) More than four\ QIQQ 2@

Q8. If all the letters are dropped in the given series, which element will be eleventh from the right end?
doa 96Q A7IY AVAGER @K 621D, 609 QAIAQ 124 18Q RNQE 6997 (a) 4

(b) %

(c) &

(d)5

(e) None of these

GeR FrIQ 6@16d & 96% |

Q9. Which of the following element is fourth to the right of the ninth element from the left end of the
given arrangement?

QLIRS LR |IF JI2Q A7 AUIQIFQ FILNG YRS QAR FRIQ 689G 9Q?

()8

(b)K

(c) E
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(d)P
(e) L

Q10. How many such symbols are there in the given series which are immediately preceded by a vowel
and immediately followed by a number?

gae 97168 IE0Q 626046 9o1a 28 KI2] 998 U@ 90a4 Jag IS° G998 1@ AW TRl 2GAQE @QULIN?
(a) None\ @8 6@

(b) One\ 691G |

(c) Two\ Qa8

(d) Three\ &

(e) More than three\ GaQ &Y< |

Directions (11-15): Study the given information carefully and answer the given questions.
do@ 90919 aneI6Q AUAR @ag Ie° GRS J9Q 29 GG |

Six persons were born on two different dates either 11 or 22 of three different months viz. September,
October and November. F was born on an odd date in the month which has even days. Two persons were
born between Q and F. More than two persons were born between Q and T. R was born before D and after
B.

GA% @2 C1AQ 11 @Yl 22 926 G2 FIANER Six Fl B §Q CRIRSEM | 66D, AUCYAQ I° F6QFQ | F A1IA6Q
@ QS CIAGI6Q 6 629Nl AR @8 OF 2T | Q 9-° F A6 @R 98 QU8 69 621026m Q 9° T. R FII6Q 909
2@ QY@ FG 62IRN2UER D Yo I9° B U6Q |

Q11. How many persons were born after R?

R J6Q 6063 QU@ 2g 62102J6m?

(a) Two\ 9@

(b) One\ 69159
(c) None\ @& g6w
(d) Three\ 5@

() None of these \ 9gG@ AIQ 6@161Q & g6

Q12. Who was born on 11th November?
11 R6RIACR &4 &g 621RMI? (a) Q

(b) F

(c)D
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(AT
() None of these \ 9gG9 FIQ 6Q161A & g6

Q13. Which of the following statement is true?
FIRYE TIQ 69T AGY?

I. More than four persons were born after T
II. Two persons were born between B and D
III. At least one person was born after F

I. T 96Q QIAQ 2@ B @g 62INYEM |

I1. B 99° D F1UI6Q Qaad Q4@ 8Q 62IRYER |
I1L. F 96Q A5Q€16Q 964 Q4B @ 62IRYEM |
(a) Both I and IIT\II 4Q° 11l @@

(b) Only I\ 6@Q% III

(c) Both I and IT\I ¥Q° [I @@

(d) Only I\ 6@Q@ I

(e) AlLL, Il and 111\ QA1 I, 11 4@° III

Q14. Who among the following was born in October?
QYA FIMGQ FIIQ @1 9 6RIREM?
(AR

(b) Q
(c)D
(d) Both R and D\R 99° D @@}

(e) Both Q and D\Q 9<Q° D Q@

Q15.__ persons were born after D. TEST SERIES ) 5
}i"it ot

Q69 Q139160 69 621926R | ENGLISH gt
(a) One\ 641G —

(b) Four\ 9@ 0SSC 2022

(c) Three\ G&@

A Junior Executive
(d) Two\ 92% Assistant

(e) None of these \ gG@ AIQ 6x161Q & g6
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Directions (16-18): Study the following information carefully and answer the questions given below:
AARYES 4AIg ANWIER ULR RAF I9° GI6Q GAUILINYS! JIQ AR TG |

There are seven members in a family in which two are married couples. S is grandmother of K. B is
father-in-law of A. C is mother of D. ] is brother of K and his mother is D. ] and K are unmarried.

661G ARQIRER seven F6l ARQAY 2BE 6ARYER IRFE FAITG @G AGE | S 6298 67 @ 63|
Q16. How is S related to D?

D 9%Q S §9Q 9667

(a) Mother\ €l

(b) Sister\ @@€1

(c) Mother-in-law\ €lig]
(d) Grandmother\ 6@6%¢1I

(e) None of these\ 1g@® aIQ 6a1613 & 962

Q17.How is Crelated to K?

C 6@ Q@0 @A @@6? (a) Mother\HATAT
(b) Mother-in-law\#T ¢1I

(c) Paternal grandmother\ 6@6%¢1l
(d) Maternal grandmother\ 2lI®

() Can’t be determined\ @44 621G AIG

Q18. How many female members in the family?
JARIQEQR 6REL @R AQQY?

(a) Two\ 996
(b) Four\ QI
(c) Three\ &&@
(d) Five\ QI8

(e) Can’t be determined \ oda 621Ra10Q QI

Q19. In the number ‘95273524’, how many pairs of the digits have the same digits between them (both

forward and backward direction) as in the number series?
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‘95273524’ QA°G1I6Q, LYl GFIER 6ATE 6AFIRT FIGR (QNG 2GIg Ia° gl G6l) QAR Al 2AF? (a) Four\
QIR

(b) Two\ Q@&

(c) One\ 691IGq

(d) Three\ &

(e) More than four\ QIQQ 2@

Directions (20-24): Study the following information carefully and answer the questions given below:
QARG YOI ANNIER UULR @G I° FI6Q GRS JIQ [@Q GAUF:

Seven people sit around a circular table and they all are facing the center. One person sits between M and
K. N sits 3rd to the left of K. D is neither an immediate neighbour of M nor N. G sits 27d to the right of D. O
sits 2nd to the left of L.

Seven @6 6MIR IR QRAIFIA 699M AISER 9T AF6S 6aF 2eq JLIASE | 768 4G M ¥9° K. N ¢li6q @382 6@ D
Q QN 9O196Q 28R @7l M @ 9o T62141 948 @gl N. G 21218 AI46Q 0 701960 382 0 0 QIF6a §o196Q
Qdad |

Q20. Who sits 4th left of D?

D Q 992 QIFI6Q &4 9d&? (a) M

(b) K
(0
(d)N
(e) None of these\ 9gGa FIQ 6x161Q & g6w

Q21. What is the position of G with respect to N?
N 996 G Q 40 @'81?
(a) 3rd to the left\(@) QI1Q Q14 |
(b) 2nd to the right \ @Il §o1¢.
(c) 3rd to the right \ @IQI€q Q1
(d) Immediate left\@Qe <I¢1
(e) None of these\ 1g@® aIQ 6a1613 & 968

Q22. How many persons sit between O and M when counted to the left of M?
M Q QIF1Q FEIRIER6R 0 Q° M FIRIEQ 6R60 6nIR 9AG?

(a) More than four\ QIQQ 2@
(b) Three\o&
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(c) One\ 691IGq
(d) Two\ Q@&
(e) None \ @8 g6

Q23. Which of the following sits 2nd to the right of K?
QANYO FRIQ 62QG K Q 9Ieg 891960 9A8? (a) G

(b)O

(oM

(d) L A COMPREHENSIVE BATCH

(e) None of these\ 1gee FIQ 6x161Q G qiecj' 0SSC JUNIOR EXECUTIVE ASSISTANT- 2022

- 100 HOURS CLASS
Starts Aug 25, 2022

Q24. Which of the following statement is true?
FARYG FRIQ 699G AGY?
I. N and O are immediate neighbors

IL. D sits 2nd to the left of O
III. One person sits between L and G

1. N 9Q° 0 998 96QI4!1 |

11 0 0 @ QIFQ Fe1A6Q 92N |

11 268 Q4@ L 99° G F1RIEQ @21 |

(a) Both I and III\II 4@ 11l @@

(b) Only I\ 6@Q® I

(c) Only III \ 699 II1

(d) Both I and I1\I 9@° 11 Q@1

(e) None is true \ 49Ga FRIQ 6a191Q & Q68

Q25. If it is possible to make a meaningful word with the second, fourth, fifth, and eighth letters of the
word ‘ACHIEVED’, then which of the following will be the third letter from the right end of that
meaningful word? If no meaningful word can be made, give X’ as the answer. If more than one
meaningful word can be made, give ‘Y’ as the answer.

9@ 'ACHIEVED' §9Q §919, 958, 0861 1a° 280 28Q 926 1e 2dgd 90 @aal 999, 656@ H9RYE A 6996

622 2294 9na GIeIE JUQ $O10 29Q 6297 9@ @ meaning 44 AL 99 GAUR CTRAAIRNR AR, 6969 AQW
QIR 'X' § | 9@ 6915NQ AR A4l 99 BUR 62IRANIRR, 6960 YRR VIKER 'Y' G2 |

(a) X

(b) 1

(Y

(d)D

(e)C
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Directions (26-30): Study the following questions and answer them by referring to the word sequence
given below:

UGS 999eR UUAR @G IQ° QFI6Q GRIKIRAQI I8 §F1 ATE 860 J4Q 28 Qag:
LAB FOX SIP BET WET

Q26. When first and third letter of each word is interchanged, then how many meaningful words will be
formed?

6dELEREM JELUR INQ e NQ° QL19 ZFA AXRQQR 9N, 6a6C El?jqéj A QIO 6997
(a) Three \ G&@

(b) One \ 691154

(c) Two \ 9@

(d) Five \ Q15

(e) None \ @8 962

Q27. If each Consonant is changed to its previous letter and each vowel is changed to its next letter
according to the English alphabetical series, then how many words contain at least one vowel?

G gesa A5 LI g ATAER ARRE0 99 19 QAIR! QIR §F1 AQAIN J6RIR Q ow Q JRKE! AVRER
JARG 9, 6569 ABAFER 661G % 6260 IR QGQ?

(a) None \ @8 g6

(b) More than three\ 65Q 2@

(c) Two \ 9@

(d) Three \ 6@

(e) None of these\ 4gGa FIQ 6x161Q & g6w

Q28. If words are arranged according to the alphabetical series (as in the English dictionary) from left to
right, which word will be third from the right end?

G §Rgea QIFQ GIK] (R°AIFT AGIF 98) QLIgeTe QINER QIALE §Y, 6369 69K IR FITIS IR 914
6297

(a) LAB

(b) SIP

(c) BET

(d) WET

(e) FOX

Q29. If each letter in each word is arranged according to the English alphabetical series from left to right,
then how many meaningful words will be formed?

A& g604R 999 g6aie 28Q QIR ALY QAR QLFIR AGAIN RIAZE 9, 6969 6260 2gd g9 FI0R 6297
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(a) Three \ G&@

(b) One \ 691154
(c) Four\ @1@

(d) Two\ 99

(e) None \ @8 62

Q30. How many letters between 1st letter of 3rd word from right end and 2nd letter of 2nd word from
left end according to the English dictionary?

QAR AQUR 2L, PILISIR QG 10 J2r! /R Q€ QU¢1 ISQ FOIL I8 TG YR F1IER 6R63 2[R 2AF?
(a) Eight\ &IO

(b) More than eleven\ NQIQdQ 2@

(c) Three\ &

(d) Four\ QI

(e) None of these\ 1g&@® aIQ 6a1613 & 962

Directions (31-34): Study the following information carefully and answer the questions given below:
QARG YOI ANNIES UULR @A I° FI6Q QLIRS JFa [ GAUF:

Seven persons A, B, C, D, E, F and G live in a building of 7 floors but not necessarily in the same order. The
ground floor is numbered as 15t floor, just above floor is numbered as 2" floor and so on till the topmost
floor is numbered as 7t floor.

Less than three persons live above F. One floor gap between E and F who lives above E. G lives just above
B who lives on even numbered floor. The number of floors above D is same as the number of floors below
A. Clives below A.

Seven @61 Q4@ A, B, C, D, E, F N@° G @ 7 F12RI 6110160 Qa8 @g A7I@ 97160 g6< | 97 F2n! gae FLml QIR
SSIFN, P8 QA LN TR FIENI VILER AISILIN | 668G QAR LRI AL ALl 26T |

ORQ @ QIB 9T AU6Q @22 | E NQ° F AII6Q 63ITN (2RI QIR 218, T4 @ 206a Q2 | G 67 A6 B Q 9F
lives 6Q Q28, I & AWl GF] 0G1616Q Q28 | D QU6 9318 Al A G6R &l 918 AWl AZE AR | C 967 A
Qe |

Q31. How many persons live below G?
G G6m 6960 6AIR QY KAF?

(a) None\ @8 Q6@
(b) Two\ 98
(c) Six\ g2

Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com




(Q) QI \ QIR |
(d) Four\ QI
(e) None of these\ 1gGa aIQ 6x161Q & g6w

Q32. Who lives on the 5th floor?
5th ALmIEQ &4 Qed?

(@)D

(b) A

() F

(d)G

(e)C

Q33. The number of persons live above B is same as the number of persons live below __.
B QU6Q QgaQl Q4@a A°Sl __ 96R Qg2 6mies Q°HYl ARG AR |

(@ E

(b) A

() F
(d)C

(e) None of these\ 1g@® AIQ 6a1613 & 962

Q34. Which of the following statement is true?
FARYG FRIQ 62RG ABY?
I. F does not live on even floor

II. E lives above D
III. G lives on the 3rd floor

I F 408& Q3IgS 961660 Q62 Q1F |

IIED Q 2¥Q Q2% |

111 § go18 A1ERIER QL3 | TEST SERIES ~
éi-'-llﬁ -.‘:

(a) Only I\ 6@9% I ENGLISH wbe ol

e

(b) Only II\ 689 II

(c)BothIandII\@@Qlo\']Qﬂl Ossc BSSO
(d) Both IT and III\II \4Q° I1I Qe PRELIMS 2022

(e) None is true \ N9 F11IQ 60163 & Q6@

27 TOTAL TESTS
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Q35. If each vowel of the word “QUALITY” is changed to the next letter of the English alphabets and each
consonant is changed to the previous letter of the English alphabet, and then the alphabets thus formed
are arranged in alphabetical order from left to right, which of the following will be fourth from the right
end?

Q@ "QUALITY" 699 9604@ Q ow @ °aIf1 Q4fIf 99 JeQe VAR JARES 94 I&° g6 4G QI
QIR YIQ J& 2VAER IFES 99, N° GIF6Q JIg AVAYER QIR FIAY FIgafia F76Q AN |, &Y
RIQ 629G BIIE FEQ 998 6297

(@K

(b) P

(Vv

(d)]

(e) None of these \ gg@ F1JQ 6a161A & 6L

Directions (36-39): In each of the questions below, some statements are given followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Qg6 QUILIRYYQI 64e dE6Q, @8 G9@ Q conclus QI &8 AVIS 2AGAE @A | ICEF TR FEQ
Qe 6291q 989 UQB8 6AgER ARIAE €IS QAOIQ @7 F6RZY, AL ARILQ ANRIES AUAR ¥ I9° g6Q
Q9@ QU | AMIAES known FENIFEN GG QAR @A 9@ ARISQ QT |

(a) If only conclusion I follows.\ 9@ 629 RIS ] AGAAE @6Q |

(b) If only conclusion II follows.\ 9@ 6@ A2 11 2GANE 968! |

(c) If either conclusion I or II follows.\ 9& [ Qg RIS AGAAEI K68 |

(d) If neither conclusion I nor II follows.\ 9@ @ conclusion §Q RIS 1 3¢ 11 AGAQE R6Q Q1L |

(e) If both conclusions I and II follow.\ 9@ @@e ARIB 1 9&° [1 AGAQE @G

Q36.Statements: Only a few Grapes are Mango.
No Mango is Banana.

Only a few Banana are Papaya.

Conclusions: 1. Some Mango are Papaya.

II. No Mango is Papaya

QQe: 6een &F A 21 AT |
6@ gl gedl

6Q9R AT QAR162Q8 AN |
deie: 1. @8 2Ig 6298 6999 |
11| 621613 2] 699Q 6% |
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Q37.Statements: Only a few City are Town.
All Town are Metro.

Conclusions: I. Some City are Metro.

IL. All City being Town is a possibility.

QQ&: 699k @8 A2q 6298 L9 |

912 AL 6¢16C 266G |

deI8: I. @8 A8 69163 26T |

Il 9912 9L LA 69 @ LR

Q38.Statements: Some Dolphin are Turtle.
All Turtle are Rabbit.

A few Owl are Rabbit.

Conclusions: I. All Dolphin are Owl.

II. Some Dolphin are not Owl.

Q8 78 ondQ @08 |

AA1Y GA8 QU |

@8 690! QUG 263 |

deie: I. 908 eadQlee 699! |

11| 38 eRdq 6991 928 |

Q39.Statements: Only a few River are Mountain.
No Mountain is Concrete.

Some Concrete are not Bricks.

Conclusions: I. Some River are being Concrete is a possibility.
II. All Mountain can be river.

Q98 629R AT 991 99G 26 |

601613 Q96 R°RQ g6< |

A8 @°5Q QG g6¢ |

dRI2: 1. 6966@ Q41 @°G4Q 6291 4@ QAU |

111 9918 dILle @Q1 6LIRAIER |

Q40. Find the odd one out?
UPO ARNQ 2QG?

(a) CBF

(b) KIM

(c) POS

(d) vuy

(e) SRV
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Q41.Ify2-x2=72 and y - x = 4, then find the value of (x X y)?
afgy2-x2=723Ry-x=4,dl (x x y) HT A ATd HIT |
(a) 33

(b) 44

(c) 55

(d) 77

(e) 66

Q42. The ratio of length to breadth of a rectangle is 7 : 3 and the perimeter of the rectangle is 40 cm. Find
the area (in cm?) of rectangle?

2196899 @ length Q@ QIR 7: 3 4Q° IVGEVQR AL 40 6171 | 2L6FGR 69Q (cm?2 6Q) 691IG7?

|(a) 96

(b) 64

(c) 21

(d)378

(e) 84

Q43. A man invested Rs.1460 in each scheme A and B. If scheme A offers simple interest at 10% p.a. for
five years and scheme B offers simple interest at 10% p.a. for eight years, then find difference between
interest (in Rs.) received from both schemes?

@641 Q43 g69I@ Q| A NI9° B 6Q 1460 6 @R6LIS @088 & & A 10% p.a 68 AR G JIR @6Q | AIg aF
AR Q° QB 10% p.a 6Q AR QJ YIe @6Q | IO Qs am”, Prdeq QU 6dIFIQ dIg I (Rs 0, 00 0) q1I6Q
qlelay 681Ie?

(a) 438

(b) 428

(c) 408

(d) 448

(e) 418

Q44. A man purchased two articles at same cost price and he sold one article at 18% loss and second at
30% profit. If total profit earned is Rs.210, then find the cost price (in Rs.) of each article?

@64 QB AR CJRIER YAT ATHR @EeEM 1° 62 60T\ 2ITANG 18% IK° ARYT 30% MIVER 87 FRUER |
9@ AP IR 6228 Rs, 000 GFI | BI'AEQ 6@ ATRRA TR Y (Rs 1) 6Q 691 |

(a) 1500
(b) 2000
(c) 2250
(d) 1750
(e) 1250

Q45. A man purchase three different articles A, B & C and cost prices of these articles is Rs.52, Rs.78 and
Rs.108 respectively. If number of each type of article purchase by man is equal and man spends total of
Rs.1190, then find the number of each type of article purchased by the man?

@64 QU@ FERIT B AITAN A, B I9° C Q¢18, 9a° I@ geogleq ay Qg6 52, Rs78 O | 9&° €00 Gl
6208 9@ QUaF Il AGIYIRYQ J6RIR IR AT@RA AW AAIS I9° 698 QY& AFRIA € 90, 000 GFI 63 |
QrU6Q 698 QB TR FSIKIRYR! JERIR IR AIRST Al 631D |
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(a) 8
(b) 4

(c)6
(d)7

(e)5

Q46. The ratio of present age of A to that of B is 5 : 4 respectively. Four years hence, age of A will be three
years more than age of B six years hence. Find the present age of B?

A Q QRAINQ 99 B Q Q@FIe 99 Q26 29AI6 QIS 5: 4 266 | 918 9F 969, A @ 99 B @ 82 9F 0Iq 6@
QF 2R 624 | @ QIR QU 6SIIR |

(a) 12 years/ Q8

(b) 20 years/ @8

(c) 16 years/ @8

(d) 24 years/ Q8

(e) 28 years/ @8

Q47. A vessel contains 120 liters mixture of milk and water in the ratio of 5 : 3. If 20 liters milk added in
the vessel, then find the ratio of water to milk in resulting mixture?

@ JIg6Q 5: 3 QUIER 120 RS V1A I° @9 Agé Q@2 | 99 dIgeq 20 MEQ 1A FASILAN, 6669 18

(9416 D10 ALE FRQ QUG 661D |
(@) 7:15

(b) 11:19

(c)8:19

(d)9:19

(e)7:19

Q48. A car cover 160 km in five hours at the speed of x km/h and same distance cover by another car in 3
hour 20 minutes at the speed of y km/hr. Find the value of (x: y)?

69115\ QIQ QIS AL FIIEA 160 FERITITR YA x @ / ARIEQ UCYE REQ IQ° ARY U@ QIQ y @6 / A 6Q96Q

67 Q41 20 1966Q QAR AG! G @6Q | (X: y) @ R 631IS |
(@)1:3

(b) 2:
(c)3:
(d)1:
(e)6:

N N AW

Q49. A boat takes five hours to cover certain distance in upstream and takes two hours to cover the same
distance in downstream. If the speed of the stream is 3 km/hr, then find the distance?
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@ oFfl 298ag Y8 F9Y 9ael 20gN KGRI AIF Q! Y& AR 6916] FIRG, Fl 209N KARIg §R AL ANY
69R2IN | 9@ stream Q&R 696 A4 3 FEMITCR, 6569 YA 6HIS |

(a) 40 km / @.41.

(b) 30 km / @.4..

(c) 10 km / @.4..

(d) 20 km / @.41.

(e) 60 km / @.41.

Q50. A is 40% more efficient than B. If B takes 6 days more than A to complete a work, then in how many
days ‘A’ alone can complete the whole work?

AG0IQ 40% 2y @F | 98 B 9@ QI @°gd @QQIq A 0IQ 6 @7 YR AN F, 6669 6R6E @R AR 'A’ IRIR1
QeI QIFY AAIY RRAIRQ?

(a) 10 days / @@

(b) 15 days / @@

(c) 21 days / @R

(d) 24 days / @@

(e) 12 days / @@

Direction (51-55): What will come in the place of question (?) mark in following number series -
e QY 9960 I 92 (?) AF6Q Q'8 2ITQ?

Q51.2, 4, 7, 12, 19, 7?

(a) 32

(b) 30

(c) 36

(d) 34

(e) 40

Q52. 67, 98, 129, 160, 7?7, 222

TEST SERIES
(b) 195 N

(c) 191 ENGLISH el

i e

e

(d) 197

(e) 199

Q53. 10, 18, 45, 109, ?, 450 ossc 2022
(a) 231 Junior Executive
(b) 232 Assistant

(c) 234

(d) 236

(¢) 239 17 TOTAL TESTS
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Q54.12, 16, 25, 41, 7?7, 102
(a) 66
(b) 64
(c) 62
(d) 68
(e)72

Q55.15, 20, 25, 30, 7?7, 40
(a) 32
(b) 35
(c) 36
(d) 45
(e) 48

Direction (56-60): Table given below shows total three types (Sunflowers, lilies and Roses) of flowers
used by an event management company in three different months. Read the data carefully and answer
the questions.

FeLER!: DR TAUYIRIYS! AREER AR GF IR IR (IS, AR I9° 6GINY) 99 82 §R AIA6R 9@

QD CHIERFELL KA FIRU QLS 62103 | 0d4q UMWIER dELP NQ° I Q@ QY |

January/ February/ <
Flowers/ g@ March/ Qe
wigaQ 62U
Sunflowers/ qgiqqm 68 112 96
Lilies/ @@ 84 64 80
Roses 60l 72 88 118

Q56. Total number of sunflowers used in January& March together are what percentage more than total
number of roses used in January&February together?

@QEUQT Q° AIF6Q 4RI MY qﬁmw QY FIQAUIQT M 6FQRUIRQIER IR0 QYR 6GlINIT GRFIER 6R6S
goaIe 2R? (a) 2.5%

(b) 5%

(c) 1.5%

(d) 4%

(e) 3%

Q57. Find the average number of all three types of flowers used by event management company in
March?

AIP6R RERE HIERFENE RHIRT FIR MRS ANL 06 RN FRQ LIAILIR A°HYI 63IR ?

(a) 91

(b)90

(c)97

(d)93

(e) 98
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(a) 4:
(b)6:
(c)6:
(do
(e)7:

(a) 90
(b) 80
(c) 50
(d) 40
(e) 60

5
7
14
6

3

90
80
70
60
50
40
30
20
10

0

Q58. Find the ratio of total number of roses used in January to total number of lilies used in January?
@IQTURNCRA MQLL 6LIWYR 6¢1IG 651IMITR A°GHYIQ RIQUQNCR IQLL €¢I AMQ 29AIQ 681IS |

Q59. Total number of roses used in March is how much more than total number sunflowers used in
January?
AI96Q PLR 64119 6GlIMIT A°GHYI RIQEUANER ILLL qﬁqﬂ®1 Q°AMIOIQ 6RER 2 R?

Q60. Find the total number of sunflowers used in all the given three months?
QUAIRYR BOF F196Q LS Al JAIES ANNG K9G |

(a) 276
(b) 274
(c) 268
(d) 272
(e) 264

Direction (61-65): Line graph shows total quantity (in'kg) of five different dry fruits sold by a shop.
Read the data carefully and answer the questions:

F6RER1: QI FIT IR 6QIRUR FIAI TG 62IRYRL AIES R YR TRQ 61S. AV (FERIFIFER) Q4N | F2IG

ANQICS ARG N° g4Q Qaa Qe |

Almond Cashew Walnut Raisin Pistachio

‘
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Q61. If the ratio of dry to wet Walnut & Pistachio sold by shop is 3 : 2 and 5 : 3 respectively, then find
difference (in kg.) between total dry Walnut & Pistachio sold by shop?

Q@ 6QIRIR FIA O 622l QI 2Rl 9° Tl ATE gl AQUIS 2GS 3: 2 4Q° 5: 3 &N, 666Q 6Q1RIQ FIQl
Q& 62IR2YR! YR QIRIF 9° T AIER IR (FENIFIFER) 6HIR |

(a) 6

(b) 5

(08

(d) 12

(e) 4

Q62. Find the ratio of total Almond to total Raisin sold by the shop?
6QIRIR FIQI F 62IRYRI 67116 FATQ AR AL QIQIFIQ AQAIG 681IR |
(@)3:5

(b)2:5
(c)1:3
(d)2:3
(e)1:2

Q63. If total Apricot sold by shop is 50% more than total Cashew sold by the shop and total dry Apricot
sold by shop is 40% less than total wet Apricot sold by shop, then find total (in kg.) dry Apricot sold by
the shop?

9@ 6QIRIQ YA TF 621/ 671G TR 6QINIER IF (ARNR! 6IS @IF |IRQIF OIQ 50% 2P, N&° 6QIRIQ

glal G 62IRZR 6719 Yl AIFERT 6RIRIR FIANQE CRIRNES! 6AIG BRIAIFERT 01 40% @7, 6669 AF QI
(QE6Q) @EMIGIFN) 8RR FIRI AG 62IRYR! Gl 2IT6RS 6SHIS | (a) 45

(b) 36
(c) 40
(d) 30
(e) 60

Q64. Total Almonds & Pistachio sold by shop is what percent more than total Cashew sold by the shop?
6QIRIQ I GF 621G AFQIL QI Ie° T 6QIRIR FIQI GF 62IRGR 67116 R QIIF0IQ ICRG! 2IR?

(a) 20%
(b) 25%
(c) 24%
(d) 30%
(e) 40%
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Q65. Find the difference between total Walnut & Raisin sold by the shop and total Cashew & Pistachio
sold by the shop?

6QIRIQ IR O 62RLII AFQIL QP YQ° HATQ Ie° 6QIRIQ IRl G 6212 ACAIY QIg QUL IQ° Tl FRIER
Qlelay 681Iw?

(a) 40 kg / @eRigIFl

(b) 5 kg / @6RIGIA

(c) 30 kg / @6RIGIEY

(d) 20 kg / @6RIGIA

(e) 10 kg / @6RIGIA

Direction (66 - 80): What value should come in place of (?) in the following questions?
AIRYE 999 PR6R (?7) AIREQ 2’4l AIQA RER?

Q66> = V324 + /256
(a) 20

(b) 5

(c) 10

(d) 15

(e) 25

Q67.3 x??=(5)% +(7)? + (17)?
(a) 12
(b) 13
(c) 10
(d)11
(e) 15

Q68.7?%=40% of 420 + 44% of 200
(a) 24

(b) 12

(8

(d) 16

(e) 416

Q69.27 of 4= of 3 0f 81 =7
(a) 2900
(b) 2500
(c) 2700
(d) 2300
(e) 2400
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Q70.v/256 x 49 + (16)2 — V343 = (?)?2
(a) 21
(b) 18
(c)14
(d) 22
(e) 19

Q71.v256 x 169 +3600~+ 12 =800 -?

(a) 312 0SSC JUNIOR EXECUTIVE ASSISTANT- 2022
(b) 280 - 100 HOURS CLASS

(C) 292 Starts Aug 25, 2022

(d) 324

(e) 296

Q72.37.5x14+800 —(26)2+136 =?
(a) 785
(b) 800
(c) 810
(d) 825
(e) 765

Q73./12.25 x 18 -(6)? - V4 = (2)?
(@7
(b) 6
(@5
(d) 4
(e) 3

Q74.(1350 + 1625) + (625 + 565) =?
() 1.5

(b) 2.5

(01

(d) 2.25

(e) 2.75

Q75.V/625 + Y64x 6 = 7% of 150
(@) 5

(b) 25

(c) 15

(d) 20

(e) 22.5
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Q76.15 x 26 + 310 - (15)2 = 20% of ?
(a) 2375
(b) 1825
(c) 2525
(d) 2150
(e) 1950

Q77.32x V625 + 352 + 150 = (?)?
(a) 50
(b) 45
(c) 35
(d) 30
(e) 40

Q78.6=+32— 72 =7+1_
3
(@) 135
9
(b) 75
3
(c)<
5
OF

(e)>

Q79.,/80% of(? +60) = == % of 12

(a) 45
(b) 35
(c) 65
(d) 55
(e) 25

Q80. 250% of 300 - 55x 40 + 2700 =?

(a) 1050 N
(b) 1250 ENGLISH oy
(c) 1150

(d) 1350

() 1450 OSSC BSSO

PRELIMS 2022

27 TOTAL TESTS
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